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Which part of your own physical
Infrastructure is would benefit from some
urgent investment this morning?
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Eyesight
Hearing

None —
perfect specimen
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Which of the following sectors

best describes the organisation you

are representing today?

Academic Institution

Central Government/
National Public Body

6%

16%

Community Group %
Local Authority/NHS Board B 16%
Private Sector 11%
Voluntary Sector 25%

Other B 1%



In broad terms, which geographical
area s your organisation concerned
with?

1. Scotland-wide I -

2. A region, district or e
City

3. Asingle smalltown [ 5%
or neighbourhood

(population under
10K)



Which one of the following conventional
claims for infrastructure investment do
you find most convincing?
Large scale infrastructure investment is the right way to:
1. Get local people into jobs | REL
now

2. Help the wider economy get 15%
going again sooner

3. Provide a better quality of life  —
for everyone when the - 33%

Investment is complete
A

4. Secure a better future for the
Scottish economy in the
longer term




Which one of the following conventional claims for
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Academic Community Voluntary



Which one of the following conventional claims for
Infrastructure investment do you find most convincing?

Large scale infrastructure investment is the right way to:

Get local people
into jobs now I 8% I 9% 0%
Help the wider
economy get
going again
sooner

Provide a better
quality of life for
everyone when
the investment is
complete

Secure a better
future for the
Scottish economy
In the longer term
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And which one do you find the
least convincing?

Get local people into jobs _ 49%
now

Help the wider economy
get going again sooner 23%

Provide a better quality

of life for everyone when mmmm 23
the investment is - :
complete

Secure a better future for |
the Scottish economy in
the longer term



Please leave your
keypad on the table —
Thank you
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Who is left? Which of the following
sectors best describes the organisation
you are representing today?

Academic Institution

Central Government/
National Public Body

=

5%

N

20%

y /£
.7%

3. Community Group

4. Local Authority/NHS Board Bl 5%

5. Private Sector 11%

6. Voluntary Sector 33%
7.

Other %



Given the current economic pressures and
anticipated social ones (older population etc,) what
should the top priority of the Scottish Government
ne In terms of its overall spending plans

1. Investment in revenue to
keep public services
available and effective

2. Investment in service based
preventative spend to reduce
future costs

3. Investment in physical
Infrastructure to kick start
jobs and the wider economy

15%

6%

A
. -



Given the current economic pressures and
anticipated social ones (older population etc,) what
should the top priority of the Scottish Government
ne In terms of its overall spending plans
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Given the current economic pressures and
anticipated social ones (older population etc,) what
should the top priority of the Scottish Government
ne In terms of its overall spending plans

Investment in
revenue to keep

public services
available and 0% . 25% l 17%
effective

Investment in

service based

preventative 50% 63% 33%
spend to reduce

future costs

Investment in
physical
Infrastructure to
Kick start jobs
and the wider
economy

— BN K

Government LA Private




Some argue that house building Is the best
form of infrastructure investment for maximum
social and economic benefits; do you

1. Strongly agree 1%
2. Agree 39%
3. Nottake aview (NN 5%

4. Disagree D 2%

5. Strongly disagree 9%



Some argue that house building Is the best
form of infrastructure investment for maximum
social and economic benefits; do you

1. Strongly
agree

2. Agree

3. Not take
a view

4. Disagree

5. Strongly
disagree
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33%
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Some argue that house building Is the best
form of infrastructure investment for maximum
social and economic benefits; do you

1. Strongly
agree

2. Agree

3. Not take
a view

4. Disagree

5. Strongly
disagree

0%

30%

0%

20%

Government

N 13%

38%

—
50% 25%
=

0%

LA

. 17/%

50%
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Some argue that procurement is key to getting social
benefits from infrastructure investment. Which one of
the following statements do you most agree with:

1. Procurement plays an important
nregeneration? M 1%
role in regeneration”

2. Procurement can be a barrier to
regeneration efforts?

3. Procurement processes should ﬁ 0%
orioritise local economic impact?

4. Regeneration staff should have a 0%
ead role in the procurement _ :

Nrocess?




Some argue that procurement is key to getting social
benefits from infrastructure investment. Which one of
the following statements do you most agree with:

1. Procurement plays
an important role in

regeneration? 0% 0% I 6%

2. Procurement can
be a barrier to
regeneration
efforts?

3. Procurement
processes should
prioritise local
economic impact?

4. Regeneration staff
should have a lead
role in the 0% . 25%
procurement
process?

Academic Community Voluntary



Some argue that procurement is key to getting social
benefits from infrastructure investment. Which one of
the following statements do you most agree with:

1. Procurement plays
an important role in
regeneration?

2. Procurement can
be a barrier to

regeneration 10% 17% 20%
efforts?

3. Procurement
processes should r—( A—
prioritise local I 10% - 50% . 20%
economic impact?
4. Regeneration staff
hould h I
wenve- = N o Bl > >
procurement
process?

0% 0%

Government LA Private



If we are most concerned with lasting social
benefits, what should be the top priority for
public investment in infrastructure?

1. National and local 4%
transport systems

2. Public buildings — schooals, 35%
hospitals libraries etc

3. Green energy generation i 6%
and distribution systems

4. Physical fabric of town I -
centres

5. Other e



If we are most concerned with lasting social
benefits, what should be the top priority for
public investment in infrastructure?

National and
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Public buildings
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hospitals 33% 75% 20%
libraries etc

Green energy
generation and 0% 0%
distribution
systems

Physical fabric
of town centres

Other 67% 25% 18%
Academic Community Voluntary

0% 0% 12%

0% 0%




If we are most concerned with lasting social
benefits, what should be the top priority for
public investment in infrastructure?

National and
local transport

systems 0% 0% 0%
Public buildings
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hospitals 18% 3B% 40%

libraries etc

Green energy g
generation and | o 0% 0%
distribution
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Please leave your
keypad on the table —
Thank you



